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Constructed Response Assessment
Weights of Candies Task

At his job, Luigi is responsible for tracking the weights of bags of small candies. Each bag of candy is
supposed to weigh 187.0 grams, but due to slight variations of the candies, not all bags have the same
weight.

A bag is rejected if its weight is more than 2.4 grams above or below the target weight.
a. Luigi randomly selects bags to weigh. He selects one bag and it weighs 185.3 grams. Should

this bag of candy be rejected? Explain your reasoning and write an equation that supports your
position.

Y

b. Find the least allowable weight and the greatest allowable weight for a bag of candy. Use
words and equations to explain how you determined these weights.
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Constructed Response Assessment
Weights of Candies Task

C. The individual bags of candy are packaged in cartons containing 10 bags each. One set of 10
bags weighs exactly 1870 grams.

The table shows the weights of 7 of the bags. Indicate possible weights for the three remaining
bags of candy in this carton. Explain how you determined these weights.

Weight (in grams)

Bag 1 186.5
Bag 2 187.0
Bag 3 188.4
Bag 4 185.6
Bag 5 188.0
Bag 6 186.8
Bag 7 187.0
Bag 8

Bag 9

Bag 10
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Scoring Guide

The CCSS for Mathematical Content (3 points)

7.NS.A.1x

7.NS.A1z

7.NS.A.3

Writes and evaluates addition or subtraction expressions in part a to determine
whether the bag weighing 185.3 grams should be rejected in any of the following
ways:

- 187-185.3=1.7;

- 187 -2.4=184.6; or

- 185.3+24=187.7.
(1 Point)

Correctly evaluates arithmetic expressions to determine the upper and lower
bounds of allowable weights.

(1 Point)

Determines in part c that the remaining three bags must combine to weigh 560.7
grams and then provides three weights whose sum is 560.7 grams in any of the
following ways:

— adding the weights of bags 1 through 7, subtracting that sum from 1870
grams, and then portioning the remaining weight among bags 8
through 10;

(1870 -1309.3)

— writing an equation of the form x = and then stating

that each bag should weigh 186.9 grams; or
— using a guess-and-check method to find appropriate weights for each
of the remaining three bags.

(1 Point)

© 2014 University of Pittsburgh
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The CCSS for Mathematical Practice (2 points)

MP2  Abstracts the target weight (187 grams) and the allowable margin (2.4 grams) from
the problem situation and writes appropriate arithmetic expressions to calculate the
least and greatest allowable weights in part b.
(1 Point)

(MP2: Reason abstractly and quantitatively.)

MP3 Constructs a reasonable argument for whether or not Luigi should reject the bag in
part a, based on an appropriate calculation. Students may do this by:

- 187 —185.3 = 1.7; this difference is less than 2.4 so the bag of candy is
within 2.4 grams of the target weight;
- 187 — 2.4 = 184.6; the weight is between 184.6 and 187 grams so it is within

the allowed range; or
- 185.3 + 2.4 = 187.7; this sum is greater than 187 grams so the difference
between the weight of the bag and the target weight is less than 2.4 grams.
(1 Point)
(MP3: Construct viable arguments and critique the reasoning of others.)

TOTAL POINTS: 5
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The CCSS for Mathematical Content Addressed In This Task

Apply and extend previous understandings of operations with fractions to add, subtract, multiply,
and divide rational numbers.

7.NS.A.1 Apply and extend previous understandings of addition and subtraction to add and subtract

rational numbers; represent addition and subtraction on a horizontal or vertical number line
diagram.

7.NS.A.3  Solve real-world and mathematical problems involving the four operations with rational
numbers.

The CCSS for Mathematical Practice*

2.  Reason abstractly and quantitatively.

3. Construct viable arguments and critique the reasoning of others.

* Gray type indicates Mathematical Practices not addressed in this assessment.

© 2014 University of Pittsburgh

Page 5 of 35



Secure Material: Do Not Copy!

A-1a

Weights of Candies Task

At his job, Luigi 1s responsible for tracking the weights of bags of small candies. Each bag of candy
is supposed to weigh 187.0 grams, but due to slight variations of the candies, not all bags have the
same weight.

A bag is rejected if its weight is more than 2.4 grams above or below the target weight.

a

Luigi randomly selects bags to weigh. He selects one bag and it weighs 185.3 grams.-
Should this bag of candy be rejected? Explain your reasoning and write an equation that
supporis your position
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Find the least allowable weight and the greatest allowable weight for a bag of candy. Use
words and equations to explain how you determined these weights.
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A-1b

Weights of Candies Task )

. C. The indwidual bags of candy are packaged in cartons contalnmg 10 bags each. One set of
10 bags weighs exactly 1870 grams

The table shows the weights qf 7 of the bags Indicaie possible weights for the three
remaining bags of candy in this carton. Explain how you determined these weights.
S wh P = " . -

Weight (in grams)
Bag 1 186.5
Bagz 187.0 )
Bag3 o 1884
’ Bag 4 : 155,6’
- -7 | Bag5 |~ 188.0
Bag6 | 186.8 _
o | Bag7y| 1z V|t L,
’ Balg 8 *
B Bag9 |
Bag 10

&4’ ossiCle vl stiesebags thooyl e fo

o s P 5, Y, g3

Qh&mé ? 196‘} A:\gé
haerq nd < bemd{?’ 4{ fiﬂ i ﬂ‘f 6695 L

WI{’L\ 560,7@/]0’ IJ/ lded {_(C{iéi/d_z—ffnoéﬂ

Page 7 of 35


mhines



Anchor 1 Litho 00027200109
Total Content Points: 3 (7.NS.A.1x, 7.NS.A.1z, 7.NS.A.3)
Total Practice Points: 2 (MP2, MP3)

The student writes a correct subtraction equation (187 — 2.4 = 184.6) in Part A to determine
whether the bag weighing 185.3 grams should be rejected (7.NS.A.1x). In Part B, the student
correctly evaluates arithmetic expressions to determine the upper (189.4 grams) and lower
(184.6 grams) bounds of allowable weights (7.NS.A.1z). The student correctly determines in
Part C that the remaining three bags must combine to weigh 560.7 grams, divides 560.7 by 3,
and states that the three bags could each weigh 186.9 grams (7.NS.A.3). In Part B, the student
abstracts the target weight and the allowable margin from the problem situation and writes
appropriate arithmetic expressions (187 — 2.4, 187 + 2.4) to determine the least and greatest
allowable weights (MP2). The student constructs a reasonable argument in Part A for Luigi to
accept the bag weighing 185.3 grams (“its wheight is less than 2.4 grams less than the perfect
wheight of 187 grams”) (MP3).

Total Awarded Points: 5 out of 5
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Secure Material: Do Not Copy!

A-2a

Weights of Candies Task

At his job, Luigi is responsible for tracking the weights of bags of small candies. Each bag of candy
Is supposed to weigh 187.0 grams, but due to slight variations of the candies, not all bags have the
same weight.

A bag Is rejected If its weight 1s more than 2.4 grams above or below the target weight.

a

Luigi randomly selects bags to weigh He selecis one bag and it weighs 185.3 grams
Should this bag of candy be rejected? Explain your reasoning and write an equation that
supports your position
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Find the least allowable weight and the greatest allowable weight for a bag of candy. Use
words and equations to explain how you determined these weights,
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A-2b
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Weights of Candies Task-

c.’ The indivicual bags of candy are packaged in cartons containing 10 bags each. One set of
10 bags weighs exactly 1870 grams

The table shows the weighis of 7 of the bags. indicate possible weights for the three
remaining bags of candy n this carton Explain how{ou determined these weights.

} Woeight (in grarms) E
Bag1 | 1865
. Bag 2 187.0 .
2 Bag3 1884
Bag4 | . 1356
Bag5 | 1880
Bag 6 186.8 .
Beg7 | 870 |~ 13043
' R
Bag 8 \56.8
Bag 9 (‘g‘g,g
Bag 10 157,
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Anchor 2 Litho 00157200109
Total Content Points: 3 (7.NS.A.1x, 7.NS.A.1z, 7.NS.A.3)
Total Practice Points: 2 (MP2, MP3)

The student writes a correct subtraction equation (187 — 2.4 = 184.6) in Part A to determine
whether the bag weighing 185.3 grams should be rejected (7.NS.A.1x). In Part B, the student
correctly evaluates arithmetic expressions to determine the upper (189.4 grams) and lower
(184.6 grams) bounds of allowable weights (7.NS.A.1z). The student correctly uses the guess-
and-check method in Part C to determine acceptable weights totaling 560.7 grams for bags 8, 9,
and 10. The “=1309.3,” combined with the student’s explanation, shows that the student looked
for numbers within the correct range that, added together, equaled the difference between 1309.3
and 1870 (7.NS.A.3). The student writes appropriate arithmetic expressions in Part B (187 — 2.4,
187 + 2.4) to determine the least and greatest allowable weights (MP2). The student constructs a
reasonable argument in Part A for Luigi to accept the bag weighing 185.3 grams (“Luigi should
keep this bag. When I worked out the equation I got 184.6 wich is less than 185.3 so that bag is
good”) (MP3).

Total Awarded Points: 5 out of 5
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AL

' Weights of candies Task.

- Athis job, Luigi is responsible for tracking the welghts of bags of small candies. Each bag of candy '

- is supposed to wetgh 187.0 grams but due to s!nght vanatlons of the candies, not all bags have the : ‘_
i_samewe:ght L T . _ :

'..A bag is rejected 1f its welght is more than 2.4 qurams above or be!ow the target welght

. _'ga.- Luigi random!y selects bags to weigh. He selects one hag and it weighs 185 3 grams.

Should this bag of candy be rejer:.ted7 Explaln your reasomng and wnte an equatlon that
. supports your position. .-
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~-.b.  Find the least ailowable weight and the greatest allowable. weight for a bag of candy. Use
L . words and equations to explain how you determlned these wetghts R
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A-3b

Welghts of Candies Task

c. The individual bags of candy are packaged in cartons containi ng 10 bags each. One set set of
- 10ba swelh ram .

' The tabie shows the weights of 7 of the bags Indlcate possnble weights for the three
5 remammg bags of candy in thzs carton. Exp|a1n how you determmed these welghts '

| Weight (in grams)

iyl Bag1 "186.5

| "~ Bag2 1870

i ; Bag 3 188.4 |

- ) Bag4 | 1856 lEOO\ tg
\ 7 ‘Bag5 |  188.0 |

7} Bagé 186.8

= Bag 7 187.0
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o 18,0

lr\ Bag 10 ‘?ﬂl-q |
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Anchor 3 Litho 00047200151
Total Content Points: 3 (7.NS.A.1x, 7.NS.A.1z, 7.NS.A.3)
Total Practice Points: 1 (MP3)

The student writes a correct subtraction equation (187 — 185.3 = 1.7) in Part A to determine if the
bag weighing 185.3 grams should be rejected (7.NS.A.1x). In Part B, the student correctly
evaluates arithmetic expressions to determine the upper (189.3 grams) and lower (184.7 grams)
bounds of allowable weights based on incorrect equations (7.NS.A.1z). The student correctly
determines in Part C that bags 8, 9, and 10 may each weigh 186.9 grams by adding the existing
bags to get 1309.3, subtracting that from 1870, and dividing the result by 3. The student receives
credit despite reversing terms in the explanation (1309.3 — 1870 = 560.7) (7.NS.A.3). In Part B,
the student writes arithmetic expressions with incorrect upper and lower limits, using 2.3 instead
of 2.4 (187 —2.3, 187 + 2.3) to determine the least and greatest allowable weights (no credit

for MP2). The student constructs a reasonable argument in Part A for Luigi to accept the bag
weighing 185.3 grams (“No because its juse 1.7 under and not 2.4) (MP3).

Total Awarded Points: 4 out of 5
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A-da

~ - Weights of Candies Task .

At his job, Luigi is responsrble for tracking the weights of ‘bags of small. candtes ‘Each bag of candy -

is supposed to weigh 187.0 grams but due to sllght vanatlons of the candres not all bags have the
- same welght : - =

A bag is rejected [f its welght IS more than 2. 4 grams above or below the target welght

‘a. Lu:gl randomly se!ects bags to we:gh He selects one bag and rt werghs 185.3 grams
"~ Should this bag of candy be rejected'? Explain your reasonlng and write-an equation that
supports your pos1tion

-
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b. Fmd the least allowab!e welght and the greatest allowable werght for a bag of candy Use
: words and equations to explain how you determmed these weights. -
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(. A-4b

~ Weights of C'andies'Task

c. The individual bags of candy are packaged in cartons contalmng 10 bags each One set of -
10 ‘bags welghs exactly 1870 grams e oo : X

: The_ table shows the welghts of 7 o‘f the bags. Indicate bossib’l’e weights for the three
- remaining bags of candy in this carton. Explain how you determined these weights. .

_ Welght (rn grams)
Bag 1 186.5 B
| Bag2 | 1870 .
[ Bag3 |  1e84 1
| Baga | 156
| Bag 5 1880
.., S N - Bag 6 1868
R T oo Bag7 . 187.0
T Bag | \%%.4\
B9 | \%5 .0
Bag10 | .\cﬁu‘cg

1 Reeaed e Wweo pallern.
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Anchor 4 Litho 00257200127
Total Content Points: 2 (7.NS.A.1x, 7.NS.A.12)
Total Practice Points: 2 (MP2, MP3)

The student writes a correct subtraction equation (187 — 185.3 = 1.7) in Part A to determine
whether the bag weighing 185.3 grams should be rejected (7.NS.A.1x). In Part B, the student
correctly evaluates arithmetic expressions to determine the upper (189.4 grams) and lower
(184.6 grams) bounds of allowable weights (7.NS.A.1z). The student attempts an incorrect
approach in Part C by searching for a pattern in the weights of bags 1 through 7 and using it to
determine the weights of bags 8, 9, and 10. The weights the student chose for the three bags add
up to 560.8 instead of 560.7, making the carton too heavy (1870.1 grams) (no credit

for 7.NS.A.3). The student writes appropriate arithmetic expressions (187 — 2.4, 187 + 2.4) in
Part B to determine the least and greatest allowable weights (MP2). The student constructs a
reasonable argument in Part A for Luigi to accept the bag weighing 185.3 grams (“No, this bag
shouldn’t be rejected. If you do this . . . you will get 1.7. It can’t be higher or lower than 2.4. Its
1.7, so it’s ok”) (MP3).

Total Awarded Points: 4 out of 5
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A-5a

‘Weights of Candies Task
At his job, Lu1gr is responsible for tracking the welghts of bags of small candles Each bag of candy
is supposed to welgh 187 0 grams, but due to shght vanataons of the candles notall bags have the
same weight. - S . ,

A bag is rejected ifits welght is more than 2. 4 grams above or below the target welght
a. : '_: Lungl randomly selects bags to welgh He selects o one bag and lt welghs 185 3 grams

‘Should this bag of candy be rejected? Explaln your reasoning and write an equation that
supports your posmon :
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b.. . Find the Ieast allowable weight and the greatest ai[owab!e weight for a bag of candy, Use
' . words and equations to explam how you determlned these weights. '
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'Weights of Candies Task

c. The individual bags of candy are packaged in cartons contalmng 10 bags each Cne set of
.10 bags welghs exactly 1870 grams, : -

- The table shows the welghts of 7 of the bags indlcate pOSSIble welghts for the three
remaining bags of candy in this carton Explaln how you determmed these welghts

Weighit (in grams). | 5

Bag 1 1865

o | Bag2 187.0

; q SR . - | Bag3 . 1884
.» ."' '. o . | Bag4 |. 1858
L o Bag5 . 188.0
. ' R Bag6 | 86,8
i R | Bag7 | 4870
Bag 8 \%‘-,
- Bag9 | B

o |.Begt0 \%b‘"
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Anchor 5 Litho 00357200127
Total Content Points: 3 (7.NS.A.1x, 7.NS.A.1z, 7.NS.A.3)
Total Practice Points: 1 (MP2)

The student writes a correct subtraction equation (187 — 185.3 = 1.7) in Part A to determine
whether the bag weighing 185.3 grams should be rejected (7.NS.A.1x). In Part B, the student
correctly evaluates arithmetic expressions to determine the upper (189.4 grams) and lower
(184.6 grams) bounds of allowable weights (7.NS.A.1z). The student correctly uses the guess-
and-check method in Part C to determine acceptable weights for bags 8, 9, and 10. No
computations are shown, but the student explains the process of adding all of the existing values,
guessing that each of the missing values was 187, and adjusting the values to fit the parameters
(7.NS.A.3). The student writes appropriate arithmetic expressions (187 — 2.4, 187 +2.4) in

Part B to determine the least and greatest allowable weights (MP2). The student attempts a
reasonable argument in Part A for Luigi to accept the bag weighing 185.3 grams (“The bag is
only 1.7g under weight”), but does not compare that variance to the acceptable lower limit of 2.4
grams (no credit for MP3).

Total Awarded Points: 4 out of 5

Page 20 of 35



Secure Material: Do Not Copy!

A-6a

Weights of Candies Task

At his job, Luigi 1s responsible for tracking the weights of bags of small candies. Each bag of candy
is supposed to weigh 187.0 grams, but due to slight vaniations of the candies, not all bags have the
same weight.

A bag is rejected if its weight is more than 2.4 grams above or below the target weight

a. Luigi randomly selects bags to weigh. He selects one bag and it weighs 185.3 grams.
Should this bag of candy be rejected? Explain your reascning and write an equation that
supports your position.

& QO \\' ‘a\ﬁo\f\\é not \)qu‘ab ‘\ KN .\ Q—mm buin
Vt&u\&. 3

S hA=17

b. Find the least allowable weight and the greatest allowable weight for a bag of candy. Use
words and equations to explain how you determined these weights.
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; A-6b

Weights of Candies Task

c. The individua! bags of candy are packaged in cartons contammg 10 bags each One set of
10 bags weighs exactly 1870 grams )

The table shows tne waights of 7 of the bags Indlcate poss:ble weights for the three -
remaiming bags of candy in this carton Explain how you determined these weighrs.

Weight (in grams)
Bag1 |- 186.5
Bag 2 1870
v . ) Bag 3 188 4
Bag 4 1856
¥ Bag 5 1880
9"”;,, . Bagb | 1868
: Bag 7 . 187.0
Bag 8
_ Bag 9
. } Bag 10
f" Y 1405
& o d Reds e
-9 ol - R Y
o) %6 .9 © T 146%0
%69 1463
b odi b l, b ! ‘"’%f*‘*’ 5, 01570
| ot R Ao o duile My 103
’ f@ ?L 190:4 Bor boogy
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Anchor 6 Litho 00147200109
Total Content Points: 2 (7.NS.A.1z, 7.NS.A.3)
Total Practice Points: 1 (MP2)

The student writes an incorrect subtraction equation (187 — 185.3 =2.3) in Part A to determine
whether the bag weighing 185.3 grams should be rejected (no credit for 7.NS.A.1x). In Part B,
the student correctly evaluates arithmetic expressions to determine the upper (189.4 grams) and
lower (184.6 grams) bounds of allowable weights (7.NS.A.1z). The student correctly determines
in Part C that bags 8, 9, and 10 may each weigh 186.9 grams by adding all existing weights to
get 1309.3 and dividing the difference between 1309.3 and 1870 by 3 (7.NS.A.3). The student
writes appropriate arithmetic expressions (187 — 2.4, 187 + 2.4) in Part B to determine the least
and greatest allowable weights (MP2). The student attempts a reasonable argument in Part A for
Luigi to accept the bag (“it is .1 from being rejected”); however, this argument is based on an
incorrect calculation (no credit for MP3).

Total Awarded Points: 3 out of 5
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A-Ta

Weights of Candies Task

At his job, Luigi is responsible for tracking the weights of bags of small candies Each bag of candy
is supposed to weigh 187.0 grams, but due to slight variations of the candies, not all bags have the
same weight.

A bag is rejected if its weight is more than 2.4 grams above or below the target weight.

a. Luigi randomly selects bags to weigh. He selects one bag and it weighs 185.3 grams.
Should this bag of candy be rejected? Explain your reasoning and write an equation that
supports your position.
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b. Find the least allowable weight and the greatest allowable weight for a bag of candy. Use
words and equations to explain how you determined these weights.
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A-T7b

Weights of Candies Task

C.

1

* The individual bags of candy are packaged in cartons contalmng 10 bags each. One set of

10 bags weighs exactly 1870 grams.

The table shows the weights of 7 of the bags Indicate possible wélghts for the three
remaining bags of candy in thig‘. carton. Explain how you determined these weights.

"Weight (in grams)
Bag 1 186.5
’ Bag 2 187.0
" Bag 3 188.4
Bag 4 185.6
Bag 5 188.0
Bag 6 186 8 v
.Bag7 187.(5 ’
Bag8
‘Bag 9
Bag \1 0 N

XN e Wntee emoing \ougs  Coutd town e
17T grams. j‘()i@\\@&) ™his Gnenerz.
\ou- would add all of e T hagys .
okoggiver Yo gexr V309, Sydtaet 1570

Gom 130 o
get bl When o vt
et oy 3 Nou Yer 1e7 ! e
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Anchor 7 Litho 00077200109
Total Content Points: 2 (7.NS.A.1x, 7.NS.A.12)
Total Practice Points: 0

The student writes a correct subtraction expression (187 — 185.3) with the correct answer (1.7) in
Part A to determine whether the bag weighing 185.3 grams should be rejected (7.NS.A.1x). In
Part B, the student correctly evaluates incorrect arithmetic expressions to determine the upper
(189.3 grams) and lower (184.7 grams) bounds of allowable weights (7.NS.A.1z). The student
attempts to solve using a generally correct process in Part C but rounds 1309.3 down to 1309
when adding the first 7 bags, resulting in an incorrect combined weight (561 instead of 560.7) for
bags 8, 9, and 10 (no credit for 7.NS.A.3). The student writes arithmetic expressions with
incorrect upper and lower limits in Part B, using 2.3 instead of 2.4 (187 —2.3, 187 + 2.3) to
determine the least and greatest allowable weights (no credit for MP2). The student attempts a
reasonable argument in Part A for whether or not Luigi should reject the bag by stating, “No the
bag should not be rejected. It would equal 1.7 so it would be around the correct weight,” but does
not compare that variance to the lower acceptable limit of 2.4 grams (no credit for MP3).

Total Awarded Points: 2 out of 5
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A-8a

Weights of Candies Task

At his Job, Luigi is responsible for tracking the weights of bags of small candies. Each bag of candy
is supposed to weigh 187.0 grams, but due to slight variations of the candies, not all bags have the
same weight.

A bag is rejected if its weight 1s more than 2.4 grams above or below the target weight.

a. L uigi randomly selects bags to weigh He selects one bag and it weighs 185.3 grams.
Should this bag of candy be rejected? Explain your reasoning and write an equation that
supports your position

3 K10 = [§6.34 2, 4.1
Mo, dis bag of sand 4

) showld. not be
réjected begoa.u.se. ’?6" you, adoc-;
24 o 1%5.3 Yo . jks 18717

and ¥ You subtract (¢17.7-

RO & oy 0% Frd s not
Over D . W Araums

b. Find the least allowable weight and the greatest allowable weight for a bag of candy. Use
words and equations to explain how you determined these weights.

AN The gma’re&l Allowable, mﬂd
be . 18%.9 because its oL
23 grams, and +he Jesgh
2llowable wowld be.. 1597

because s orzhﬁa 2.2 Araas
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A-8b

Weights of Candies Task

C.

The individual bags of candy are packaged in cartons contalnmg 10 bags each One set of
10 bags weighs exactly 1870 grams’ -

e

The table shows the weights of 7 of the bags. Indicate possible weights for the three
remaining bags of candy in this carton. Explain how you determined these weights.

I3 -
Y.

Weight (in grams)’

Bag 1 ‘1865‘
Bag 2 187.0° | L
N . Bag 3 _ 1884
= Bag 4 ., 18586
.~ | Bag5s © 1880
Bag6 |- ~ 186.8 \
- Bag7.| + -187.0 ‘s
Bag8 | 1YY q
C Bag 9 . *JK‘),‘? -
Bag 10 [¥].9

S Add AN +he/ wu@
O@&hfr Hen, odd T 1889

%19, 191 53 1o Cj&f
IKE{Q ~

Litho#: 0006 /200709
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Anchor 8 Litho 00067200109
Total Content Points: 1 (7.NS.A.1x)
Total Practice Points: 1 (MP3)

The student writes an appropriate addition equation (187 = 185.3 + 2.4) in Part A to determine
whether the bag weighing 185.3 grams should be rejected (7.NS.A.1x). In Part B, the student
does not correctly evaluate arithmetic expressions to determine the upper and lower bounds of
allowable weights, and no work is shown (no credit for 7.NS.A.1z). The student attempts to
solve Part C using a guess-and-check method to find three weights that add up to the difference
between 1870 grams and the weight of the first seven bags, but although the weights for bags 8§,
9, and 10 correctly add up to 560.7 grams, bags 9 and 10 are not appropriate weights because
they are outside the acceptable limits. Bag 9 (189.9 grams) is 0.5 grams above the acceptable
upper limit of 189.4, and Bag 10 (181.9 grams) is 2.7 grams below the acceptable lower limit of
184.6 (no credit for 7.NS.A.3). The student does not attempt arithmetic expressions in Part B to
determine the least and greatest allowable weights (no credit for MP2). The student constructs a
reasonable argument in Part A for Luigi to accept the bag weighing 185.3 grams (“No, this bag
of candy should not be rejected because if you add 2.4 to 185.3 you its 187.7 and if you subtract
187.7 —187.0 its only 0.7 and is not over 2.4 grams”) (MP3).

Total Awarded Points: 2 out of 5

Page 29 of 35



Secure Material: Do Not Copy!' _

A-9a

"'welghts of Cand:es Task Rt B

At h[S _[Ob Lungl lS reepensmle for tracklng the welghts of bags of small candles Each bag of candy i

is supposed to welgh 187.0 grams, but due to slight vanatrons of the candles not all bags have the-

- same werght

___A bag rs rejected rf |ts welght is more than 2 4 grams above or below the target welght
: _:a._' ' Lurgr randomly selects bags to welgh He selects one bag and lt we:ghs 185 3 grams

‘Should this bag of candy be rejected? Explain your reasomng and wnte an equation that
supports your posmon

| ™0, bzccmz, \lr %Q\Q\ \l Sroul dl\@c W

ZH g = Mg ong g LT e
ll\Ym \,l\r\glc \‘r \‘b %\A\)@b‘%\z ‘o \A\z\%h

. b. . Findthe least allowable weight and the greatest allowable weight for a bag of candy. Use' i
Ut words and equatlons to explam how you determined these welghts T

s>
NG & Us
oo
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Welghts of Candles Task

| A-9b

C. 'The mdn\udual bags of candy are packaged |n cartons contaming 10 bags each One set of

10 bags welghs exactly 1870 grams

o 'The table shows the weights of 7 of the bags. Indlcate pcssﬂale welghts for the three -
_ remammg bags of candy in thls carton. Explam how you detennmed these welghts

Weight (in grams)
| Bag 1 186.5
. - | Bag2 | 1870 -
| Bag3 1884
Bag 4 1856
“Bag5 188.0
Bag6 186.8
Bag 7 1870
| Bage
: “Bago
Bag 10
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Anchor 9 Litho 00037200151
Total Content Points: 1 (7.NS.A.12)
Total Practice Points: 0

The student does not attempt an addition or subtraction expression in Part A to determine if the
bag weighing 185.3 grams should be rejected (no credit for 7.NS.A.1x). In Part B, the student
correctly determines the upper (189.4 grams) and lower (184.6 grams) bounds of allowable
weights. Although no arithmetic expressions are shown, the response receives credit
(7.NS.A.1z). The student does not attempt to solve Part C (no credit for 7.NS.A.3). The student
does not attempt arithmetic expressions to determine the least and greatest allowable weights in
Part B (no credit for MP2). The student attempts a reasonable argument in Part A for Luigi to
accept the bag weighing 185.3 grams (“it said it should not be 2.4 more & this one is 1.7 less
then what it is suppose to weigh”), but this does not compare variance to the acceptable lower
limit of 2.4 grams (no credit for MP3).

Total Awarded Points: 2 out of 5
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A-10a

Weights of Candies Task = -

At his job, Luigi is responsible for tracking the weights of bags of small candies. Each bag of candy
is supposed to weigh 187.0 grams but due to sllght vanatlons of the candies, not all bags have the
_same welght

A bag IS rejectecl lf its welght |s more than 2.4 grams above or. below the target we|ght
_ai'.f-'j" :K',ngl randomly selects bags to welgh He se[ects one bag and it weighs 185. 3 grams

- Should this bag of- candy be rejected'? Explain your reasomng and write an equatlon that
‘supports your position.

&N& \M,Q.QMLS € \\ o\\\\\_ \."‘\O&ch \-L-'i» ‘t‘w:z,‘(\
Nfa*\‘*‘“&%% e

b, Find the least allowable weight and the greatest allowable weight for a bag of candy; Use
- words and equations to explain how you determined these weights.

W\f > e »w . %éwwo. e
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A-10b

- Weights of Candies Task'

c.. . Theindividual bags of candy are packaged in cartons contalnmg 10 bags each One set of
10 bags weighs exactly 1870 grams.

.;' : - The table shows the weaghts of 7 of the bags lnchcate possible weights for the three
' remammg bags of candy in this carton. Exp[aln how you determined these we[ghts

Weight (in grams)
Bag 1 186.5 .
Bag2 187.0
Bag 3 188.4
Bag4 | -~ 1856
. Bag 5 1880
Bag 6 1868
‘Bag7 | 187.0 .
Bag 8 A
.| Bag?® I@ZZS' s
- |Bagto| mm

v

| WQ& hwn &\\ o\P e %u\amﬁm\
\’Zq\ 5, Fow VIO groeS My dividhed

\’0“’\ met ok e %@*' \a2.S
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Anchor 10 Litho 00127200127
Total Content Points: 0
Total Practice Points: 0

The student does not attempt an addition or subtraction expression in Part A to determine
whether the bag weighing 185.3 grams should be rejected (no credit for 7.NS.A.1x). In Part B,
the student correctly determines only the lower limit (184.6 grams) of allowable weights

(no credit for 7.NS.A.1z). The student attempts to solve Part C by dividing the difference of 1870
and the sum of the weights of the first 7 bags by 3. The student subtracts the wrong answer,
1291.3, from 1870, resulting in weights for bags 8, 9, and 10 that are not appropriate weights,
because they are outside the acceptable limits. The 192.9 grams for each bag is 3.5 grams above
the acceptable upper limit of 189.4, and the combined weights of bags 8, 9, and 10 add up to
578.7 instead of 560.7, making the carton (1888 grams) too heavy (no credit for 7.NS.A.3). The
student does not attempt arithmetic expressions to determine the least and greatest allowable
weights in Part B (no credit for MP2). The student attempts a reasonable argument in Part A for
Luigi to accept the bag weighing 185.3 grams (“No because its only 1.7 grams less then the
regular bags”), but does not compare that variance to the acceptable lower limit of 2.4 grams
(no credit for MP3).

Total Awarded Points: 0 out of 5
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